




























































MSFC Form 420 (Rev. November 2003) Informed

INPUT FORM FOR ENGINEERING PARTS LIST

DRAWING/PART NO.

MES00100-001

SIGNATURE

DATE

D
S

D

DWG
REV

-

DASH

101

REV

-

DESCRIPTION

REACTOR ASSEMBLY, SEMI- BATCH PROCESS, MRS CFR

DRAWING/PART NO.
DWG
REV DASH REVMAKE

FROM

TRC
CODE

CBD NO. PCN NO.
UNIT 

WEIGHT
QTY

1

TOP ASSEMBLY

FINAL

PROJ
CODE

 

EFFECTIVITY

 

EFF
ADJ

PKG NO. RESP ORGANIZATION

ES21

REV DESCRIPTION

DWG
ZONE

FIND OR ITEM 
NUMBER

1

2

 3

 4

 5

 6

 7

 8

 9

 10

11

12

13

14

15

 D
S

D

D

D

 

D

 

MES00102-001

MES00106-001 

 MES00104-001

 92186A367

90762A132

98019A399

MPG-125-A-L

MPG-040-A-L

TJ36-CAIN-18U-20-CC

TJ36-CAIN-040U-24

P105530

MS-TL-SGC

945/UPC 085995-002277

HEATER TBD

MES00128-001

DWG
REV

 

OKV

OKV

OKV

DA

 

E6

E6

E6

SPL

 

 

 

QTY

1

1

1

 32

 32

64

5

3

5

3

2

AR

1

1

2

UNIT 
WEIGHT

 

NOTES

 

TRC DESCRIPTION

REACTOR CYLINDER ASSEMBLY

BOTTOM CAP ASSEMBLY

 TOP CAP ASSEMBLY

BOLT 3/8 - 24

NUT 3/8 - 24

WASHER - 3/8

CONAX THERMOCOUPLE FITTING

CONAX THERMOCOUPLE FITTING

OMEGA / THERMOCOUPLE 125

OMEGA / THERMOCOUPLE 040

COPPER GASKET / IDEAL VACUUM PRODUCT

SWAGELOK SILVER GOOP

14 QUART FUNNEL / BEHRENS

HEATER 3/8 DIA. / SE HEATERS & CONTROLS

VALVE ASSEMBLY

DRAWING / PART NUMBER

CODE IDENT.

SHEET A 1 OF 2 SHEETS

INITIAL/TIME/DATE RELEASE DESK:

DESIGNER

BOBBY ATKINS

ENGINEER (PRINT)

BOBBY ATKINS

03/31/2014

CHECKER MATERIAL STRESS APPROVED APPROVED

EPL

EPL



MSFC Form 420 (Rev. November 2003) Informed

INPUT FORM FOR ENGINEERING PARTS LIST

DRAWING/PART NO.

MES00100-001

SIGNATURE

DATE

D
S

D

DWG
REV

-

DASH

101

REV

-

DESCRIPTION

REACTOR ASSEMBLY, SEMI-BATCH PROCESS, MRS CFR

DRAWING/PART NO.
DWG
REV DASH REVMAKE

FROM

TRC
CODE

CBD NO. PCN NO.
UNIT 

WEIGHT
QTY TOP ASSEMBLY

FINAL

PROJ
CODE

 

EFFECTIVITY

 

EFF
ADJ

PKG NO. RESP ORGANIZATION

ES21

REV DESCRIPTION

DWG
ZONE

FIND OR ITEM 
NUMBER

16

17

18

19

20

21 

22

23

24

25

26

 D
S

D

 

 

 

D

 

MES00123-001 

9088K510 

92185A198 

95307A300 

9088K530 

92186A591 

93827A219 

98019A385 

 MES00118-001

 TUBE / INCONEL 600

MES00127-001

DWG
REV

OKV

OKV

OKV

OKV

OKV

OKV

OKV

DA

E6

E6

E6

E6

E6

E6

E6

SPL

 

 

 

QTY

 1

 4

 24

 24

 2

16

16

32

8

4

1

UNIT 
WEIGHT

 

NOTES

 

TRC DESCRIPTION

 MANIFOLD ASSEMBLY

 CONFLAT GASKET

SCREW / NO. 8 

NUT / NO. 8 

CONFLAT GASKET 

BOLT  /  5/16

NUT  /  5/16

WASHER  /  5/16

FLANGE / .75 INCH

TUBE / .75 DIA. X 3" LENGTH / PACIFIC ALLOY

FLANGE ASSEMBLY / 2.5" DIA.

DRAWING / PART NUMBER

CODE IDENT.

SHEET A 2 OF 2 SHEETS

INITIAL/TIME/DATE RELEASE DESK:

DESIGNER

BOBBY ATKINS

ENGINEER (PRINT)

BOBBY ATKINS

03/31/2014

CHECKER MATERIAL STRESS APPROVED APPROVED

EPL

EPL



MSFC Form 420 (Rev. November 2003) Informed

INPUT FORM FOR ENGINEERING PARTS LIST

DRAWING/PART NO.

MES00102-001

SIGNATURE

DATE

D
S

D

DWG
REV

-

DASH

101

REV

-

DESCRIPTION

REACTOR CYLINDER, ASSEMBLY, MRS CFR

DRAWING/PART NO.
DWG
REV DASH REVMAKE

FROM

TRC
CODE

CBD NO. PCN NO.
UNIT 

WEIGHT
QTY

1

TOP ASSEMBLY

MES00100

PROJ
CODE

 

EFFECTIVITY

 

EFF
ADJ

PKG NO. RESP ORGANIZATION

ES21

REV DESCRIPTION

DWG
ZONE

FIND OR ITEM 
NUMBER

1

2

 

 

 

 

 

 

 

 

 D
S

D

D

 

 

 

MES00116-001

MES00117-001 

 

 

 

 

 

 

 

DWG
REV

 

DA

 

SPL

 

 

 

QTY

1

2

 

 

 

UNIT 
WEIGHT

 

NOTES

 

TRC DESCRIPTION

REACTOR CYLINDER

REACTOR FLANGE

 

 

 

DRAWING / PART NUMBER

CODE IDENT.

SHEET A 1 OF 1 SHEETS

INITIAL/TIME/DATE RELEASE DESK:

DESIGNER

BOBBY ATKINS

ENGINEER (PRINT)

BOBBY ATKINS

03/31/2014

CHECKER MATERIAL STRESS APPROVED APPROVED

EPL

EPL



MSFC Form 420 (Rev. November 2003) Informed

INPUT FORM FOR ENGINEERING PARTS LIST

DRAWING/PART NO.

MES00104-001

SIGNATURE

DATE

D
S

D

DWG
REV

-

DASH

101

REV

-

DESCRIPTION

TOP CAP ASSEMBLY,SEMI-BATCH PROCESS, MRS CFR 

DRAWING/PART NO.
DWG
REV DASH REVMAKE

FROM

TRC
CODE

CBD NO. PCN NO.
UNIT 

WEIGHT
QTY TOP ASSEMBLY

PROJ
CODE

 

EFFECTIVITY

 

EFF
ADJ

PKG NO. RESP ORGANIZATION

ES21

REV DESCRIPTION

DWG
ZONE

FIND OR ITEM 
NUMBER

1

2

 3

4

5

6

 7

 

 

 

 D
S

D

D

 

 

D

 

MES00120-001

MES00126-001 

100X100C0022W48T 

5182K840 

5182K960 

MES01401-001

AN123341 

 

 

 

DWG
REV

 

DA

 

SPL

 

 

 

QTY

1

1

 AR

 1

 1

4

4

UNIT 
WEIGHT

 

NOTES

 

TRC DESCRIPTION

TOP CAP

INLET ASSEMBLY, SEMI-BATCH PROCESS

 COPPER MESH, 100 / TWP

YOR-LOK FITTING, 1/2/INCH  

YOR LOK FITTING, 90 DEG., 3/8 INCH 

 MESH RETAINING RING

RIVET - .125 DIA X .625 LONG

DRAWING / PART NUMBER

CODE IDENT.

SHEET A 1 OF 1 SHEETS

INITIAL/TIME/DATE RELEASE DESK:

DESIGNER

BOBBY ATKINS

ENGINEER (PRINT)

BOBBY ATKINS

06/30/2014

CHECKER MATERIAL STRESS APPROVED APPROVED

EPL

EPL



MSFC Form 420 (Rev. November 2003) Informed

INPUT FORM FOR ENGINEERING PARTS LIST

DRAWING/PART NO.

MES00106-001

SIGNATURE

DATE

D
S

D

DWG
REV

-

DASH

101

REV

-

DESCRIPTION

BOTTOM CAP ASSEMBLY, SEMI-BATCH PROCESS, MRS CFR

DRAWING/PART NO.
DWG
REV DASH REVMAKE

FROM

TRC
CODE

CBD NO. PCN NO.
UNIT 

WEIGHT
QTY TOP ASSEMBLY

PROJ
CODE

 

EFFECTIVITY

 

EFF
ADJ

PKG NO. RESP ORGANIZATION

ES21

REV DESCRIPTION

DWG
ZONE

FIND OR ITEM 
NUMBER

1

2

3

4

5

6

 

 

 

 

 D
S

D

D

D

 

D

 

MES00121-001

MES00113-001 

MES01402-001

100X100C0022W48T 

MES01400-001 

AN123339

 

 

 

 

DWG
REV

 

DA

 

SPL

 

 

 

QTY

1

1

1

AR

6

12

UNIT 
WEIGHT

 

NOTES

 

TRC DESCRIPTION

BOTTOM CAP

BOTTOM FUNNEL, SEMI-BATCH

CATALYST CONTAINER 

COPPER MESH, 100 /  TWP

MESH RETAINING RING 

RIVET .125 DIA X .500 LONG

DRAWING / PART NUMBER

CODE IDENT.

SHEET A 1 OF 1 SHEETS

INITIAL/TIME/DATE RELEASE DESK:

DESIGNER

BOBBY ATKINS

ENGINEER (PRINT)

BOBBY ATKINS

06/30/2014

CHECKER MATERIAL STRESS APPROVED APPROVED

EPL

EPL



MSFC Form 420 (Rev. November 2003) Informed

INPUT FORM FOR ENGINEERING PARTS LIST

DRAWING/PART NO.

MES00123-001

SIGNATURE

DATE

D
S

D

DWG
REV

-

DASH

101

REV

-

DESCRIPTION

MANIFOLD ASSEMBLY, SEMI-BATCH PROCESS, MRS CFR

DRAWING/PART NO.
DWG
REV DASH REVMAKE

FROM

TRC
CODE

CBD NO. PCN NO.
UNIT 

WEIGHT
QTY TOP ASSEMBLY

PROJ
CODE

 

EFFECTIVITY

 

EFF
ADJ

PKG NO. RESP ORGANIZATION

ES21

REV DESCRIPTION

DWG
ZONE

FIND OR ITEM 
NUMBER

1

2

 

 

 

 

 

 

 

 

 D
S

D

D

 

 

 

MES00115-001

MES00122-001

 

 

 

 

 

 

 

DWG
REV

 

DA

 

SPL

 

 

 

QTY

1

1

 

 

 

UNIT 
WEIGHT

 

NOTES

 

TRC DESCRIPTION

MANIFOLD

FLANGE / 2.5" DIA.

 

 

 

DRAWING / PART NUMBER

CODE IDENT.

SHEET A 1 OF 1 SHEETS

INITIAL/TIME/DATE RELEASE DESK:

DESIGNER

BOBBY ATKINS

ENGINEER (PRINT)

BOBBY ATKINS

07/01/2014

CHECKER MATERIAL STRESS APPROVED APPROVED

EPL

EPL



MSFC Form 420 (Rev. November 2003) Informed

INPUT FORM FOR ENGINEERING PARTS LIST

DRAWING/PART NO.

MES00126-001

SIGNATURE

DATE

D
S

D

DWG
REV

-

DASH

101

REV

-

DESCRIPTION

INLET ASSEMBLY, SEMI-BATCH PROCESS, MRS CFR 

DRAWING/PART NO.
DWG
REV DASH REVMAKE

FROM

TRC
CODE

CBD NO. PCN NO.
UNIT 

WEIGHT
QTY TOP ASSEMBLY

PROJ
CODE

 

EFFECTIVITY

 

EFF
ADJ

PKG NO. RESP ORGANIZATION

ES21

REV DESCRIPTION

DWG
ZONE

FIND OR ITEM 
NUMBER

1

2

 3

 4

 5

 6

 

 

 

 

 D
S

D

D

D

D

 

MES00125-001

MES00107-001 

MES00108-001 

MES00109-001

MES00124-001

92845A123

 

 

 

 

DWG
REV

 

OKV

DA

 

E6

SPL

 

 

 

QTY

1

1

1

1

1

3

UNIT 
WEIGHT

 

NOTES

 

TRC DESCRIPTION

INLET ADAPTER, SEMI-BATCH 

INNER TUBE, INLET 

OUTER TUBE, INLET 

CAP, OUTER INLET TUBE 

HEATER  WELL

SET SCREW / 1/4 - 20

DRAWING / PART NUMBER

CODE IDENT.

SHEET A 1 OF 1 SHEETS

INITIAL/TIME/DATE RELEASE DESK:

DESIGNER

BOBBY ATKINS

ENGINEER (PRINT)

BOBBY ATKINS

07/01/2014

CHECKER MATERIAL STRESS APPROVED APPROVED

EPL

EPL



MSFC Form 420 (Rev. November 2003) Informed

INPUT FORM FOR ENGINEERING PARTS LIST

DRAWING/PART NO.

MES00127-001

SIGNATURE

DATE

D
S

D

DWG
REV

-

DASH

101

REV

-

DESCRIPTION

FLANGE ASSEMBLY, SEMI-BATCH PROCESS, MRS CFR 

DRAWING/PART NO.
DWG
REV DASH REVMAKE

FROM

TRC
CODE

CBD NO. PCN NO.
UNIT 

WEIGHT
QTY TOP ASSEMBLY

PROJ
CODE

 

EFFECTIVITY

 

EFF
ADJ

PKG NO. RESP ORGANIZATION

ES21

REV DESCRIPTION

DWG
ZONE

FIND OR ITEM 
NUMBER

1

2

 

 

 

 

 

 

 

 

 D
S

 

 

 

 

 

MES00122-001

TUBE / INCONEL 600

 

 

 

 

 

 

 

 

DWG
REV

 

 

DA

 

 

SPL

 

 

 

QTY

1

1

 

 

 

 

UNIT 
WEIGHT

 

NOTES

 

TRC DESCRIPTION

FLANGE /  2.5" DIA.

TUBE  / 2.5 DIA./  6 IN. LENGTH / PACIFIC ALLOY

 

 

 

 

DRAWING / PART NUMBER

CODE IDENT.

SHEET A 1 OF 1 SHEETS

INITIAL/TIME/DATE RELEASE DESK:

DESIGNER

BOBBY ATKINS

ENGINEER (PRINT)

BOBBY ATKINS

07/01/2014

CHECKER MATERIAL STRESS APPROVED APPROVED

EPL

EPL



MSFC Form 420 (Rev. November 2003) Informed

INPUT FORM FOR ENGINEERING PARTS LIST

DRAWING/PART NO.

MES00128-001

SIGNATURE

DATE

D
S

D

DWG
REV

-

DASH

101

REV

-

DESCRIPTION

VALVE ASSEMBLY, SEMI-BATCH PROCESS, MRS CFR

DRAWING/PART NO.
DWG
REV DASH REVMAKE

FROM

TRC
CODE

CBD NO. PCN NO.
UNIT 

WEIGHT
QTY TOP ASSEMBLY

PROJ
CODE

 

EFFECTIVITY

 

EFF
ADJ

PKG NO. RESP ORGANIZATION

ES21

REV DESCRIPTION

DWG
ZONE

FIND OR ITEM 
NUMBER

1

2

3 

 

 

 

 

 

 

 

 D
S

 

 

D

 

 

4866K79

TUBE, INCONEL 600 

MES00122-001

 

 

 

 

 

 

DWG
REV

 

DA

 

SPL

 

 

 

QTY

1

2

 1

 

 

UNIT 
WEIGHT

 

NOTES

 

TRC DESCRIPTION

VALVE / 2.5"

TUBE 2.5"OD X 6" LENGTH  /  PACIFIC ALLOYS

VALVE FLANGE 

 

 

DRAWING / PART NUMBER

CODE IDENT.

SHEET A 1 OF 1 SHEETS

INITIAL/TIME/DATE RELEASE DESK:

DESIGNER

BOBBY ATKINS

ENGINEER (PRINT)

BOBBY ATKINS

07/01/2014

CHECKER MATERIAL STRESS APPROVED APPROVED

EPL

EPL


	Pro ENGINEER - MES00100-001
	Pro ENGINEER - MES00102-001
	Pro ENGINEER - MES00104-001
	Pro ENGINEER - MES00106-001
	Pro ENGINEER - MES00107-001
	Pro ENGINEER - MES00108-001
	Pro ENGINEER - MES00109-001
	Pro ENGINEER - MES00113-001
	Pro ENGINEER - MES00115-001
	Pro ENGINEER - MES00116-001
	Pro ENGINEER - MES00117-001
	Pro ENGINEER - MES00118-001
	Pro ENGINEER - MES00120-001
	Pro ENGINEER - MES00121-001
	Pro ENGINEER - MES00122-001
	Pro ENGINEER - MES00123-001
	Pro ENGINEER - MES00124-001
	Pro ENGINEER - MES00125-001
	Pro ENGINEER - MES00126-001
	Pro ENGINEER - MES00127-001
	Pro ENGINEER - MES00128-001
	Pro ENGINEER - MES01400-001
	Pro ENGINEER - MES01401-001
	Pro ENGINEER - MES01402-001
	EPL-100-1
	EPL-100-2
	EPL-102
	EPL-104
	EPL-106
	EPL-123
	EPL-126
	EPL-127
	EPL-128

